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Successive Differentiation : Important Questions

y = Log (1 + cosn)

Prove thaty,yz+ yy = 0

Y: Log (If Cosn)
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⑳ Set f(x) = (x-sinx tox= 0
show that f'(u) is not continuous at

x =0 and f'(x) does not

exist atx= 0

Sol. xt0
f

f(x) =xSine

f(x) = x"Cost() + sinyn (zx)



=-Cosyx + 2x sin'n
When x = 0.
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f'(x) =S2usinn-Lostax to
x = 0

Now

hi f(x) = hin 24 sine - Cose
x+0 x+ 0
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=) f'(x) is not continuous atx=0

=> f'(b) is not derivable atx = 0.

=) f'(a) does not exist atx=0.

Hence proved.
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③If x =a (Cott +t Sint)

y = a (sint-tCost]

Compute day at tot



④If Jo + 5 = Ta

find the value of dayatx=a


